cos(20) =cos* 0 —sin’ 0
cos(20)=1-2sin’0
cos(20) =2cos* 0 -1
sin(20) = 2sinOcos O

2tan©
—2tan0

tan(20) = 1



Derivation page 1 how double ange formulas come from sum/difference formulas
(something you could do):

005(9 + 9) = 008(29) =c0s0cosO —sinOsin O =cos* O —sin* O
cos’—sin“0=1—sin*0—sin“0=1—2sin"0
cos’—sin’ 0 =cos* 0 — (1 — cos’ 9) =2cos*0—1

Sin(ﬁ + 9) = sin(29) =smn0cos0 + cosOsin O =2s1mn0cos0

tan0+tan0  2tan0

tan(0 + 0) = tan(20) = 1—tanOtan® 1—2tan®




Find sin(20)

\/§ 31t

sinf=——, —<0<2n
3 2



- Recognize the patterns of the formulas

- Use the substitution trick:

A=20
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